a
\“x ==
/>< "
~. 3 100 E
= 210
¥
= Y R
— ‘3 kif t :
1
256° I 570 : 10 lolfl 19
ﬁ i
i i
I >
fa |- o i SR
5 i - = : e tor szaritd  al_
szoba "] | I i onyn 50 " radiator =
lam. parketta i nappdli ; kerdmia |~ &) g
1054 i i ':E-'*g" ! | E} 30E
i 18,87 nf? : O 3 mnagsogey
i : L/ e .
—m K [ fiirddsz.
— ' o~ keramia
! 478 m?
! g
/ ' ——d——
f : =S
! i !
\ :|
S k A | 4) el 85 I,
_______ —= P __‘_‘.‘-____  yoai = _'\__
R 7/ . :
T T T 7
B
_____________________ 2 e T T T
___________ ol - - - ______ N __glee— o _____ .
=) 8| +2.99 erkély & |2 ZE
B kima
25 10375 e y5
e




